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a. Distingdish between Sy6ttinitltic Risk and

is 10 percent.
(i) Calculatffi$"intrinsic valueffiJiYbond. Should B"ri, buy the bond? [PV/FA (10%

ients among the
iation of portfolio

(07 Marks)
8.50. The bond has four

rate. The next annual

(10 Marks)

Risk. (03 Marks)
I analysis? (07 Marks)

. The bond has a couponrate of9 percent andgo+*Ad\rn buys a bondffifftbur Years to
ed?"vi's priced at Rs.lffiin"tlie market.'' (i) What is-the*dtiration of the bffi

b. 4IoS iitechnical an
g,.*.i&n buYs a bondp
fui+$i's priced at Rs.100'i* (i) What is*thgdfrtation of the b-dhrd?

(irl Vfhul ffimffi. the percentupffig. in the price of the bond, if the interest rate rises by
t pehryff ryP (ro Marks)

YrP

4 a. What is Coupon Rate arffi;o Coupon bond? (03 Marks)

b. Explain the key macrffidnomic variables and their impact on stock market. (07 Marks)

c. Vardhman Limited's eardings and dividends have been growing at arate of 18 percent per
annum. This grov(h fate is expected to continue for 4 years. After that the growth rate will
fall to 12 percgffi@ the next 4 years. Thereafter, the growth rate is expected to be 6 percent
forever. If thd{fi#$fldividend per share was Rs.2.00 and the investor's required rate of return
on Vardhmap's%quity is 15 percent, what is the Intrinsic Value per Share? (10 Marks)
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Eursl oorween t*y and Arbitrage pricing
is RSI? From the informati.r, ,;',.ii^;:... ^ RSI ofDav I 2 3 4 5 6 7^\

-H
Price 300 304 319

9 10
3t7 319 333 #8il 332 348 346

5a.
b.

c.

!-hat is breadth of market? How is it used?
Distinguish bet
What is RSI? F

CAPM
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c.ompany X's share.
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(03 Marks)
(07 Marks)

(10 Marks)

(03 Marks)
(07 Marks)
lio over a

6a.
b.

c.

What is an efficient frontier?
Explain the Single Index Model
The returns on the equity stock

illiam Sharpe.
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standard deviation of y and Z.
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